
Date 

Home Hssigoment 

Numerico0 ) 

A 5kg bods callides witha dokg body and 

e xents 20 N forrce On it 5o force exèrr ted by 

20 kg bady an 5 ka body 20 N 

2.G1iven mass a man = SO kq 

s being sus pended frrom cod (Hew a -9 

Qo q9:8 e mls2 

o tho torco o tro rope thad pulls tha ro 

E =ma 
E = 50xq.8 
E=49N CAns) 

3 bniven hass.of man =50 k9 
Mass of Lope = 5kq 
Total Mass - 50+= LSh 

As t is suS pen dad frram the ma, OE9 =n 
o F= Ma 

F=55 x9-8 
F539 



Cw 

Numenical 

-50 G7ven mass oh fh pendulum bob -

50a tis suspen ded from te celli0 o elevator (a=a-9.8 rms 
o 

a f he elavataroes Up witn 
acceleration 12 mls han 
tension-? 

Tma ma 
mn+a) 
5GC9-8+1:2) 

ay 

T 

1OO0 

S G 5SN 
Ihe accelegation fs up ward but nagaia T= mCg-a) 

T SO(98-1-2) 
O 05 X 86 

O.93 N 
C)tis qfven velocity fs onitoqm oul&cceludton s UG 

&o hou T = mng 
- S 

TO0gX 9.8 

O0Sx9.8 
O:y9 N 
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Age41 

(dhHis afven thd accelermcton fs down ward 
T: mg-a) 

S S 98-1-2) 
O0O 

- 03 N 
The accelooadion 2s Logatiue o it mauob 

down Wards 
T: m(qt 

98-1-2) 

O00 

55 N 

he velocity Ís constard so accelarahon 
20 
=50y 9.8 

= O:0Sx 9.8 
0.55 N 
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12 

Jume rical 
Gven 

Mass ok monkey =40 kg 
MaXimu m tensl on =6OO N 
9-8 mls 

aIf mon kay c limps op with an accelkrata 
o6 mlst. , Then, 

1 mgtma 

m Cq4a) 
40 (q 8 t6) 
0 x 15 G 

6a4 n 

&o, in this Cose rtope wT 6rcoak 

Ans-Optton (A) 
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